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(7) Find f'(e) if f(z)= (nz) :
3z
(8) Find j—i at (1,2) if z°y +zy® = 10.
(9) Fmdf&)ﬁf@piﬁa&ﬁ—7a
(10) Find the area of the region completely enclosed by the graphs of the functions

f(z)=2%-3z+3 and g(z) =z +3.

—. A truck gets 600/z miles per gallon (mpg) when driven at a constant speed of z miles

per hour (mph) between 50 and 80 mph. If the price of fuel is $3/gallon and the driver

is paid $18/hour, at what speed between 50 and 80 mph is it most economical to drive ?

(10 %)

[t

Use the method of Lagrange multipliers to find the minimum of the function f(z,y,z) =

22y + 6yz + 8zz subject to the constraint zyz = 12000. (10 %)

79. A money market fund has a continuous flow of money at a rate of f(z) = 1500 —

300z, reaching 0 in 5 years. Find the present value of this flow if interest is 10%

compounded continuously. (10 %)
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